R | s Instructions // Brugsanvisning

Instruktioner // Instruksjoner // Ohjeet

PATIO
HEATER

No Glare aluminium heating panel

Virkefeltet 4
DK-8740 Braedstrup

Wall / ceiling model v e
with remote control S

Art. no. 211-333, 211-334 Made in PRC




).\ Brugsanvisning

Laes manualen for brug.
Opbevar manualen tilgaengelig for ethvert spgrgsmal af fremtidig brug af dit produkt. Produktet er
designet og fremstillet i overensstemmelse med europeeiske standarder: CE, RoHS.

Generelle sikkerhedsforeskrifter

» Anvend kun produktet pa en fladt og stabil overflade.

« Tildeek ikke produkt, eller varmerens gitter.

* Brug ikke produktet teet pa gardiner og andre braendbare materialer.

* Anvend ikke produktet i darligt vejr som regn, storm eller sne.

* Anvend ikke produktet med en tidsstyring, timer eller andet automatisk udstyr som teender og slukker
produktet, da dette kan medfgre brand, hvis produktet er tildeekket eller placeret forkert.

* Placer ikke varmeren direkte under et strgmudtag.

» Placer ikke varmeren teet pa swimmingpools, bad eller bruserum.

» Tag altid produktet ind efter brug, og lad produktet afkgle inden eventuel nedpakning.

Vedligehold og rengaring

» Treek stikket ud af stikkontakten far rengaring, eller nar produktet ikke er i brug i leengere perioder.
* Rengaring af produktet bar tidligst fortages 60 minutter efter senest brug.

« Under rengering ma der ikke sprgjtes renggringsmidler eller vand direkte ind i produktet.

« Péfer rengeringsmiddel pa en klud og after produktet.

* Kontroller regelmaessigt, at ledningen ikke er beskadiget, og at stikket er rent.

» Huvis stremledningen skal udskiftes, ma det kun gares af en autoriseret fagmand.

Fejlfinding

Folg fejlfindingstrinene anfart nedenfor:

» Sorg for, at streamstikket er forbundet korrekt.

» Kontroller kablet for eventuelle brud.

« Sarg for on/off-kontakten er trykket ind.

» Hvis produktet er slukket pga. overophedning eller ukorrekt brug (overophedningssensor), skal stram-
men tages af produktet, og produktet skal nedkgle. Kontroller efter 30 minutters afkgling produktet for
defekter, hvis der ikke er synlige defekter, pragv da at tilslutte strammen igen. Hvis produktet ikke
virker bar du kontakte din forhandler.

Bortskaffelse
EU-direktiv 2002/96/EF om elektrisk og elektronisk udstyr (WEEE), kreever, at gamle
husholdningsapparater ikke bliver smidt ud med det normale husholdningsaffald. Apparaterne skal
indsamles separat for at maksimere genvinding og genbrug af materialer og reducere indvirkning

mmmm P2 Menneskers sundhed og miliget. Symbolet af en “krydset skraldespand” forefindes pa
produktet for at minde om de forpligtelser for separat opdeling af affald. Forbrugerne bar kontakte
deres forhandler, kommunen eller dit lokale renovationsvaesen vedrgrende den procedure, der
skal fglges ved fjernelse af dette produkt.



Garanti
Produktgarantien er i henhold til kebeloven. Garantiperioden starter den dag produktet er blevet kabt.

Garantihandtering
Et fejlbeheeftet produkt skal returneres til kebsstedet sammen med en gyldig kvittering. Hvis produktet far
en fejl i Igbet af garantiperioden, skal produktet returneres til kgbsstedet.

Fraskrivelse af garanti

Skade eller defekter der opstar ved mislighold, eller ved ukorrekt brug af produktet, daekkes ikke af ga-
rantien. Garantien daekker heller ikke force majeure, som lynnedslag, oversvemmelse, ildebrand eller
skader sket under transport. Garantien vil bortfalde, hvis der pa nogen made er foretaget modifikationer pa
produktet, eller hvis produktet er forsggt repareret af en udenforstaende tredjepart.

Produktspecifikationer Produktspecifikationer
Model no. ZHQ1898-CW Model no. ZHQ1898-CW
Varenr. 211-333 Varenr. 211-334
Stremkilde 230V AC ~ 50 Hz Stregmkilde 230V AC ~ 50 Hz
Strgmforbrug 2000W Stremforbrug 2000W
Kapslingsklasse IP55 Kapslingsklasse IP55

IBRUGTAGNING

Nar installationen er faerdig, tilslut terrassevarmeren til en 230V ~ 50Hz stikkontakt pa et tgrt og sikkert
sted. Terrassevarmeren har hovedafbryderen pa selve enheden. Ved at skubbe kontakten til ON, bliver
det farste lys pa indikatorpanelet r@dt og terrassevarmeren er i stand-by tilstand. Sluk for enheden ved at
skubbe hovedafbryderen til OFF.

HOVEDAFBRYDER KONTROLPANEL FJERNBETJENING

Rod: Stand-by tilstand Bla: Bla: Bla:
Gron: Drift tilstand 900W 1800W  Timer

ON/OFF

;i,/://
L5

ON/OFF Modtager

900/1800W

Timer

FJERNBETJENING

ON/OFF: Teend/sluk enheden.

900W / 1800W (+/-): Valg af varmeeffekt 900W eller 1800W.

Timer: Tryk pa knappen en gang og timer-indikatoren lyser, og enheden slukker automatisk efter fem timer.
Tryk pa knappen og timer-indikatoren slukker, og enheden er permanent teendt.

BETJENING VIA KONTROLPANELET

Enheden kan ogsa betjenes fra kontrolpanelet. Tryk pa ON/FF-knappen pa kontrolpanelet en gang og
varmeeffekten vil veere pa 900W, tryk to gange, og varmeeffekten vil vaere pa 1800W strgm, tryk tre gange,
og terrassevarmeren slukker.



m Instructions

Read the instructions before use
Keep the manual for any questions of future use of your product. The product is designed and
manufactured in compliance with European standards: CE, RoHS.

General safety instructions
* Use the heater only on flat and stable surface.
» Do not cover the product or the heater.
« Do not place bags, rugs or other objects in such a way that they block the heater.
* Do not use the heater close to curtains and other combustible materials.
+ Do not place the heater directly below a socket outlet.
* Do not use the heater in the immediate surroundings of a bath, a shower or a swimming pool.
» Always take the product indoors after use, and let the product cool off before packing it away
* Do not use this heater outdoor during bad weather like rain, storm or snow.
« Do not use this heater with a programmer, timer or any other device that switches the
heater on automatically, since a fire risk exists if the heater is covered or positioned
incorrectly.

Maintenance and cleaning

« Disconnect the plug from the socket before cleaning or when the product is not in use for
prolonged periods of time.

* Do not clean the product until 60 minutes after it is turned off.

* When cleaning, do not spray cleaners or water directly into the product.

* Apply the cleaner on a cloth and wipe the product.

» Regularly check the cord for damages and ensure that the plug is clean.

« If the power cord, lamp or other electrical parts needs replacing, this must be done only by a
professional electrician.

Troubleshooting

Follow the troubleshooting steps listed below:

* Make sure the power cord is connected correctly.

» Check the cable for any ruptures.

* Make sure the ON/OFF switch has been switched OFF.

« If the product is turned off due to overheating caused by improper use (overheat sensor), the product
must be disconnected from the socket outlet and cool off. Check the product for defects after 30
minutes of cooling. If there are no visible defects, try to reconnect the product again. Please contact the
place of purchase if this did not solve your problem.

Disposal
European directive 2002/96/EC on Electrical and Electronic Equipment Waste (WEEE), requires
that old household appliances are not thrown into the normal municipal waste stream. The
appliances should be collected separately to maximize the recovery and recycling of materials
f— and reduce the impact on human health and the environment. The symbol of the “crossed off
dustbin” is stamped on the product to recall the obligations of the separate collection.
Consumers should contact their dealer or local authorities regarding the procedure to be followed
for the removal of their product.



Warranty
The product warranty is pursuant to the Danish Sale of Goods Act.The warranty period starts on the day
the product was purchased.

Warranty handling
A defective product must be returned to the place of purchase along with a valid receipt. If the product be-
comes defective during the warranty period, the product must be returned to the place of purchase.

Warranty disclaimer

Damage or defects resulting from neglect or improper use of the product is not covered by the warranty.
The warranty does not cover force majeure such as lightning, flood, fire or damage occurred during trans-
port. Warranty cover will be void, if the product’s serial number has been changed, if any modifications
have been made or if a repair has been attempted by any unauthorized service centre.

Product specifications Product specifications
Model no. ZHQ1898-CW Model no. ZHQ1898-CW
Art. No. 211-333 Art. No. 211-334
Power source 230V AC ~ 50 Hz Power source 230V AC ~ 50 Hz
Consumption 2000W Consumption 2000W
Protection class IP55 Protection class IP55

OPERATING INSTRUCTIONS

When the installation is complete, connect the heater to a 230V ~ 50Hz outlet in a dry and safe place. The
heater has the main switch on the unit itself. By pushing the switch to ON, the first light on the indicator
panel turns red and the heater is in standby mode. Turn off the unit by pushing the main switch to OFF.

MAIN SWITCH CONTROL PANEL REMOTE CONTROL

Red: Stand-by mode Blue: Blue: Blue:
Green: Power-mode 900W 1800W  Timer

;iz/a//
L3

ON/OFF Receiver

ON/OFF

900/1800W Timer

REMOTE CONTROL

ON/OFF: SwitchS the device ON/OFF.

900W / 1800W (+/-): Selecting heat output 900W or 1800W.

Timer: Press the button once and the timer indicator lights up and the device automatically turns off after
five hours. Press the button again and the timer indicator turns off and the device is permanently on.

OPERATING THE UNIT FROM THE CONTROL PANEL

You can also press the panel control of the heater, press the ON/OFF button on the control panel one time,
the heater will be on 900W power, press it two times, the heater will be on 1800W power, press it three
times, the heater will be off.



\"Al Instruktioner

Las instruktionerna fére anvandning
Férvara manualen for eventuella fragor om framtida anvandning av produkten. Produkten ar designad och
producerad i enlighet med europeiska normer: CE, RoHS.

Allmanna sakerhetsanvisningar

* Anvand varmaren endast pa plant och stabilt underlag.

+ Tack inte produkten eller varmarens grill.

» Placera inte vaskor, mattor eller andra foremal pa ett sadant satt att de blockerar grillen.

« Anvand inte varmaren nara gardiner och andra brannbara material.

* For inte in frammande féremal i varmekallan bakom grillen.

* Placera inte varmeren direkt under ett vagguttag.

« Anvand inte varmaren i den omedelbara narheten av ett badkar, dusch eller en pool.

» Ta alltid produkten inomhus efter anvandning, och lat produkten svalna innan du packar undan den.

* Anvand inte denna varmare utomhus vid daligt vader som regn, storm eller snd.

* Anvand inte varmaren med en timer eller nagon annan enhet som vaxlar slar pa.
varmaren automatiskt, eftersom en brandrisk foreligger om varmaren ar tackt eller placerad
felaktigt.

Underhall och rengéring

« Dra ut stickkontakten ur vagguttaget fore rengoring eller nar produkten inte anvands for langre
tidsperioder.

* Rengor inte produkten forran 60 minuter efter att den stangts av.

« Vid rengoring, spraya inte rengoringsmedel eller vatten direkt i produkten.

» Applicera rengdringsmedel pa en trasa och torka av produkten.

+ Kontrollera regelbundet sladden for skador och se till att kontakten ar ren.

* Om stromsladden, lampa eller andra elektriska delar behdver bytas ut, maste detta ske endast av en
professionell elektriker.

Felsokning

Folj felsokningsstegen nedan:

« Se till att stromsladden ar korrekt ansluten.

+ Kontrollera kabeln for eventuella brister.

+ Settill att ON / OFF-knappen har stangts av.

» Kontrollera om glédlampan har blast.

« Om produkten ar avstangd pa grund av dverhettning som orsakas av felaktig anvandning
(6verhettningssensor), maste produkten vara bortkopplad fran vagguttaget och svalna av. Kontrollera
produkten for fel efter 30 minuters avsvalning. Om det inte finns nagra synliga skador, forsok att
ateransluta produkten. Vanligen kontakta din aterférsaljare om detta inte I6ser problemet.

Bortskaffande
EU-direktiv 2002/96 / EG om elektrisk och elektronisk utrustning (WEEE), kraver att gamla
hushallsapparater inte kastas i det normala hushallsavfallet. Apparaterna ska samlas in separat
for att maximera ateranvandning och atervinning av material och minska paverkan pa manni-
mmmm  Skors halsa och miljon. Symbolen med en “Gverkryssad soptunna” ar stamplad pa produkten for
att paminna om skyldigheten till kallsortering. Konsumenterna bér kontakta sin aterférsaljare eller
lokala myndigheter om det forfarande som skall foljas for att aviagsna denna produkt.



Garanti
Garantitiden borjar den dag produkten kops.

Garantihantering
En defekt produkt maste aterlamnas till inkdpsstallet tillsammans med ett giltigt kvitto. Om produkten blir
defekt under garantiperioden, maste produkten aterlamnas till inképsstallet.

Garantiansvarsfriskrivning

Skador eller defekter pa grund av férsummelse eller felaktig anvandning av produkten tacks inte av garan-
tin. Garantin tacker inte force majeure som blixtnedslag, 6versvamning, brand eller skada uppstatt under
transporten. Garantin bortfaller, om produktens serienummer har andrats, om nagra

andringar har gjorts, eller om en reparation har utférts av obehdrig serviceverkstad.

Produktspecifikationer Produktspecifikationer
Modell ZHQ1898-CW Modell ZHQ1898-CW
Art. No. 211-333 Art. No. 211-334
Kraftkalla 230V AC ~ 50 Hz Kraftkalla 230V AC ~ 50 Hz
Stromférbrukning 2000W Stromférbrukning 2000W
IP klass IP55 IP klass IP55

ANVANDING

Anslut stromsladden till ett 13 amp-vagguttag, som ar placerad pa en torr och saker plats.

Nar strombrytaren star pa ON-positionen, lyser den réda indikationslampan, och varmaren star i standby-
lage. OFF-positionen betyder att varmaren ar avstangd.

STROMAVBRYTAR KONTROLLPANELEN FJARRKONTROLLEN

Ro6d: Standby-lage  Bla: Bla: Bla:
Gron: Arbetslage 900W 1800W  Timer

;i,/://
7

PA/AV Mottagare

900/1800W Timer

FJARRKONTROLLEN

ON/OFF: Slar pa/av enheten.

900 W /1800 W (+/-): Val av varmeeffekt 900 W eller 1800 W.

Timer: Tryck pa knappen en gang och timer-indikatorn lyser; enheten stangs av automatiskt efter fem
timmar. Tryck pa knappen igen och timer-indikatorn slacks; enheten ar permanent paslagen.

PANELKONTROLL

Du kan ocksa anvanda panelkontrollen pa varmaren. Tryck pa On/off-knappen pa panelkontrollen en gang
och varmaren stalls in till 900 W. Tryck pa den tva ganger for att stalla varmaren till 1800 W. Tryck pa den
tre ganger for att stdnga av varmaren.



m Instruksjoner

Les brukerveiledningen for bruk
Oppbevar brukerveiledningen tilgjengelig for eventuelle fremtidige sparsmal om produktet.
Produktet er designet og utviklet i overenstemmelse med europeiske standarder: CE, RoHS.

General safety instructions

» Bruk kun produktet pa flatt og stabilt underlag.

« Produktet og ovnens gitter, ma ikke tildekkes.

» Bruk ikke produktet tett pa gardiner og andre brennbare materialer.

« Bruk ikke produktet ved darlig veer som regn, storm eller sng.

» Bruk ikke produktet med en tidsstyring, timer eller annet automatisk utstyr som tenner og slar av
produktet. Dette kan gke risikoen for brann, hvis produktet er tildekket eller plassert feil.

» Plasser ikke ovnen direkte under et strgmuttak.

» Plasser ikke ovnen rett ved badebasseng, bad eller vatrom.

« Produktet ma alltid tas inn etter bruk og la produktet avkjole seg far eventuell nedpakking av produktet.

Vedlikehold og rengjoring

« Trekk kontakten ut av stikkontakten ved rengjering, eller nar produktet ikke er i bruk i lengre perioder.

* Rengjaring av produktet bar tidligst skje 60 minutter etter siste bruk.

« Péfer rengjgringsmiddel pa en klut og tark av produktet.

* Regelmessig vedlikehold av produktet anbefales, da dette forlenger produktets levetid og utseende.
(I kystneere omrader bgr produktet rengjares hyppigere, grunnet luftens saltinnhold).

+ Kontroller regelmessig, at ledningen ikke er skadet og at kontakten er ren.

* Hvis strgmledningen skal skiftes, ma det kun utfgres av autorisert fagpersonell.

Feilsgking

Folg feilsgkingstrinn som angitt nedenfor:

» Kontroller at streamkabelen er riktig tilkoblet.

» Kontroller at stramkabelen er intakt.

« Kontroller at av / pa-bryteren er trykket inn.

» Huvis produktet er slatt av pga overoppheting og feil bruk av overopphet ingssensor, ma produktet
kobles av stramforsyning og avkjgles. Kontroller produktet for eventuelle mangler etter 30 minutters
avkjgling, for sa a ta det i bruk igjen. Om produktet fortsatt ikke fungerer, ber du kontakte forhandleren.

Kast av spesialavfall
EU-direktiv 2002/96 / EF om kasserte elektriske og elektroniske produkter (EE-avfall), krever at
gamle elektriske husholdningsapparater ikke skal kastes med husholdningsavfall. Apparater skal
samles separat for 8 maksimere resirkulering og gjenbruk av materialer og redusere innvirkningen

— pa menneskers helse og pa miljget. Symbolet med “kryss over sgppelkasse” pa produktet, skal
veere en paminnelse om forpliktelser for nedbryting av avfall. Vedrgrende prosedyrer som skal
felges ved fjerning av spesialavfall, bgr forbrukere kontakte forhandler, kommune eller det lokale
gjenvinningsanlegget.



Garanti
Produktgarantien er i samsvar med kjgpsloven. Garantiperioden gjelder fra datoen
produktet ble kjapt.

Garanti handtering
Et defekt produkt ma returneres til kjigpsstedet sammen med gyldig kvittering. Hvis produktet far en feil i
garantiperioden, skal produktet leveres tilbake til kjgpsstedet.

Ansvarsfraskrivelse pa garantien

Feil eller mangler som skyldes forssmmelse eller feil bruk av produktet, er ikke dekket av garantien.
Skader eller defekter som oppstar ved bruk av ikke-originale deler eller uoriginalt ekstrautstyr, dekkes ikke
av garantien. Garantien dekker ikke force majeure som lyn, flom, brann eller skade som oppstar under
transport.

Produktspeesifikasjoner Produktspeesifikasjoner
Model no. ZHQ1898-CW Model no. ZHQ1898-CW
Art. No. 211-333 Art. No. 211-334
Strgmkilde 230V AC ~ 50 Hz Strgmkilde 230V AC ~ 50 Hz
Stregmforbruk 2000W Stremforbruk 2000W
Beskyttelsesklasse IP55 Beskyttelsesklasse IP55

BRUK

Koble strgamledningen til et 13-volts strgmuttak, som er plassert pa et tart og trygt sted.

Nar streambryteren er pa ON, lyser den rgde indikatorlampen og varmeren er i standby-modus. OFF-stillin-
gen betyr at varmeren er slatt av.

STROMAVBRYTAR KONTROLLPANEL FJERNKONTROLL

Red: Standby-modus Bla: Bla: Bla:
Grgnn: Driftsmodus 900W 1800W  Timer

;i,/,:,//
5

PA/AV  Mottaker

900/1800W Timer

FJERNKONTROLL

PA/AV: Sl& enheten PA/AV.

900W / 1800W (+/-): Velger varmeeffekt 900W eller 1800W.

Timer: Trykk en gang pa tasten og tidsindikatoren tennes, og enheten slar seg automatisk av etter fem
timer. Trykk pa knappen og tidsindikatoren slar av og enheten er permanent pa.

BRUK AV KONTROLLPANELEN

Enheten kan ogséa betjenes fra kontrollpanelet. Trykk pa PA/AV-knappen péa kontrollpanelet en gang og
varmekraften vil veere 900W, trykk to ganger, og varmekraften vil vaere 1800V, trykk tre ganger og terras-
sevarmeren slar av.



“ Ohjeet

Lue kayttoohjeet ennen kayttoa ja sailyta kayttoohje myohempaa tarvetta varten
Tuote on suunniteltu ja valmistettu eurooppalaisia CE- ja RoHS-standardeja.

Varoitukset

+ Kayta infrapunalammitinta vain tasaisella ja vakaalla alustalla.

+ Ala peita infrapunaldmmitinta tai sen suojaristikkoa.

« Al3 kayta lammitinté tulenarkojen materiaalien laheisyydessa.

+ Kytke infrapunalammitin vain maadoitettuihin pistorasioihin

« Ala kayta infrapunaldmmitintd ulkona huonoissa sadolosuhteissa, esim. rankkasateen, myrskyn
tailumisateen aikana.

« Al aseta infrapunaldmmitintéd suoraan pistorasian alapuolelle

- Al3 kytke infrapunalammitintd ajastimeen kytkettyyn pistorasiaan tms., joka saattaa kytkea laitteen
automaattisesti paalle

« Al3 aseta infrapunalammitinta uima-altaiden, kylpyammeiden tai pesuhuoneiden valittdmaan
laheisyyteen.

* Vie lammitin aina kayton jalkeen sisatiloihin ja anna sen jaahtya ennen varastointia.

Huolto ja puhdistus
Irrota pistotulppa ennen laitteen puhdistusta ja kun infrapunalammitin ei ole kaytossa.

* Anna tuotteen olla irti pistorasiasta tunnin ajan ennen kuin puhdistat sen.

» Puhdistettaessa laitetta, ala suihkuta vetta tai puhdistusainetta suoraan laitteeseen.

+ Lisaa puhdistusaine ensin siivousliinaan ja pyyhi tuote.

+ Saannollinen laitteen puhdistus pidentaa tuotteen kayttoikaa (etenkin rannikkoalueilla tuote kannattaa
puhdistaa useammin ilman suolaisuuden takia).

« Tarkista johto saanndllisesti vaurioiden varalta ja varmista etta pistotulppa on puhdas.

+ Jos infrapunalammittimen johto on vaurioitunut, vaihdata johto uuteen vain sahkoalan ammattilaisilla.

Vikatilanteissa

« Varmista, etta johto on kunnolla kiinni pistotulpassa.

» Tarkista johto vaurioiden varalta.

+ Varmista ON/OFF-kytkimen asento.

« Mikali infrapunalammitin on ylikuumentumisen takia sammunut, irrota pistotulppa rasiasta ja anna
laitteen jaahtya. Tarkista laite vaurioiden varalta noin puolen tunnin kuluttua sen jaahdyttya. Mikali vikoja
ei iimene, kokeile kaynnistaa laite uudelleen. Ota yhteys infrapunalammittimen ostopaikkaan, mikali laite
ei toimi. Muissa ongelmatilanteissa ota yhteys myymalaan.

Laitteen havittaminen
Infrapunalammitinta ei voi havittaa tavallisen kotitalousjatteen mukana. Laite tulee havittaa
E\/ sahko- ja elektroniikkaromun (SER) kierratyspisteessa.

10



Takuu
Tuotetakuu alkaa ostopaivasta. Sailyta aina alkuperainen kuitti, jossa nakyy tuotteen nimi, ostopaiva
ja — paikka. Takuuasioissa ota aina yhteys myymalaan.

Tuoteviat pyritaan korjaamaan varaosin
Mikali koko tuote joudutaan vaihtamaan, saattaa korvaavassa tuotteessa olla pienia savyyn tai malliin
liittyvia eroja.

Tuotteessa ilmenevat viat, jotka ovat aiheutuneet laitteen ohjeiden vastaisesta kaytosta, eivat kuulu
takuun piiriin.

Takuu ei myoskaan kata vikoja, jotka ovat aiheutuneet kayttajan itse tekemista muutoksista tai
asennuksista laitteeseen. Takuu ei kata myoskaan Force Majeure -tilanteita, kuten tulipalo, salama, tulva
tai kuljetusvahinko. Takuu ei mydskaan enaa ole voimassa, jos laitteen korjausta on yrittanyt joku muu kuin
valtuutettu korjaaja.

Tuotetiedot Tuotetiedot
Mallinumero ZHQ1898-CW Mallinumero ZHQ1898-CW
Tuotenumero 211-333 Tuotenumero 211-334

Virtalahde 230V AC ~ 50 Hz Virtalahde 230V AC ~ 50 Hz
Virrankulutus 2000W Virrankulutus 2000W
IP luokitus IP55 IP luokitus IP55

KAYTTO

Kun asennus on valmis, kytke lammittimen verkkojohto maadoitettuun pistorasiaan (220-240V, 13A), joka
sijaitsee kuivassa ja turvallisessa paikassa. Lammittimessa on laitteen paavirtakytkin. Painamalla kytkin
asentoon ON, syttyy merkkivalopaneelin ensimmainen valo punaiseksi ja lammitin on silloin valmiustilassa.
Painamalla kytkin asentoon OFF sammuu laite kokonaan.

ON/OFF PAAVIRTAKYTKIN MERKKIVALOPANEELI KAUKOSAADIN
Punainen valo palaa valmiustilan L .
merkiksi Sininen valo Sininen valo Sininen valo,
Vihrei valo toimintatilan 900W 1800W kun ajastin
merkiksi on kytkettyna

|/
ATy
L7

paavirtakytkin signaalin
vastaanotin

900/1800W Ajastin

KAUKOSAADIN

On/off = laitteen kaynnistdminen ja sammuttaminen

900W/1800W (+/-) = lammitystehon valinta 900W tai 1800W

Timer = ajastin; paina nappainta kerran -> “timer” —merkkivalo syttyy ja laite sammuu viiden tunnin kuluttua
automaattisesti; paina nappainta uudelleen -> “timer” merkkivalo sammuu ja laite on pysyvasti paalla

KAYTTO OHJAINPANEELISTA

Voit kayttaa lammitintd myos suoraan ohjainpaneelista. Paina ohjainpaneelin nappia "On/Off” kerran, jotta
lammitysteho 900W kytkeytyy. Toisella painalluksella kytkeytyy 1800W lammitysteho ja saman napin kol-
mannella painalluksella [ammitin sammuu. 11



DA/EN/SE

NO/FI

Montering // Installation // Asennus

Sgrg for, at alle dele er inkluderet i pakken, og fiern alt
emballagemateriale fra varmeren. Fglg trinene og de
detaljerede billeder for at installere din produktet.
Tilslut ikke varmeapparatet til en stikkontakt, far
installationen er feerdig.

ADVARSEL! Dette varmeapparat kan ikke styre
temperaturen i rummet. Anvend ikke varmeren i sma
rum, hvor der er personer, der ikke kan forlade rummet
pa egen hand, medmindre der er permanent tilsyn

Unpack the heater to make sure that all the items are
present and that there are no components left in the
box and that the heater head is free from any packing
material. Using the detailed drawing follow the steps to
assemble your heater. Do not connect the heater to the
electrical supply until all the assembly is complete.

WARNING! This heater is not equipped with a device to
control the room temperature. Do not use this heater in

small rooms when they are occupied by persons not ca-
pable of leaving the room on their own, unless constant
supervision is provided.

Se till att alla delar finns med i férpackningen, och ta
bort allt férpackningsmaterial fran varmaren. Folj stegen
och de detaljerade bilderna for att montera din varmare.
Anslut inte varmaren till ett eluttag innan monteringen ar
helt fardig.

VARNING! Denna varmare kan inte sjalv kontrollera
temperaturen i rummet. Anvand inte denna varmare

i sma rum dar det finns personer som inte kan Iamna
rummet pa egen hand, om inte konstant uppsyn finns
tillganglig.

Pass pa at alle deler er inkludert i pakken, og fiern alt
emballasjemateriale fra varmeren. Fglg trinnene og
detaljerte bildene for a installere varmeren din.

Koble ikke varmeapparatet til et stikkontakt far
monteringen er ferdig.

ADVARSEL! Denne varmeren kan ikke kontrollere
temperaturen i rommet selv. Ikke bruk dette
varmeapparat i sma rom hvor det er personer som ikke
kan forlate rommet pa egenhand, med mindre
permanent tilsyn er tilgjengelig.

Avaa kaikki pakkaukset ja varmista, etta olet saanut
kaikki osat, joita tuotteeseen kuuluu. Varmista, ettei
pakkauksiin ole jaanyt irrallisia osia. Varmista,

etta lammittimeen ei jaa mitdan pakkausmateriaaleja.
Kokoa lammitin kayttovalmiiksi tdssa esitetyilla
vaiheittaisilla ohjeilla. Ala kytke l&mmitinté verkkovirtaan
ennen kuin asennus on kaikilta osin valmis.

VAROITUS! Lammittimessa ei ole huoneen lammon
saatelyyn tarkoitettua termostaattia, joten kayttajan pitaa
itse valvoa huoneen lampétilaa. Alé kayta lammitinta
vailla valvontaa pienissa tiloissa, joissa henkil6t eivat
kykene vapaasti poistumaan tilasta.

12

Dele / Parts / Delar / Deler /
Tarvikkeet

Ref |Beskrivelse Antal Ref |Beskrivelse Antal

1 |Del1 4 7 [Skruer M4 * 8 4

2 |Ekspansionsbolt M6 * 50 1 8 |Skruer M6 * 10 1

3 | Skruer M6 * 10 4 9 |M6 nagle 4

4 |Del2 1 10 |'L' sekskantnagle 1

5 |Sikkerhedsskrue M6 * 10 2 11 _|Fjernbetiening 2

6 |Del3 1 12 |Kaede 1
Ref |Description Quantity | Ref [Description Quantity

1 [Part1 1 7 [Screws M4*8 2

2 |Explosive bolt M6*50 4 8 [Screws M6*10 2

3 |Screws M6*10 4 9 |M6 spanner 1

4 |Part?2 1 10 [‘L' hexagonal wrench 1

5 |Security screw M6*10 1 11 [Remote control 1

6 |Part3 2 12 |Chain 2
Ref |Namn Antal Ref |Namn Antal

1 |Faste 4 7 | Skruvar M4*8 4

2 |Expansionsbult M6*50 1 8 |Skruvar M6*10 1

3 | Skruvar M6*10 4 9 |M6-skruvnyckel 4

4 [Beslag - stomme 1 10 [Insexnyckel 1

5 |Séakerhetsskruv M6*10 2 11 [Fjarrkontroll 2

6 |Beslag - sidor 1 12 [Kedja 1
Ref |Beskrivelse Mengde | Ref [Beskrivelse Mengde

1 |Del1 4 7 [Skruer M4 * 8 4

2 |Utvidelsesbolt M6 * 50 1 8 |Skruer M6 * 10 1

3 [Skruer M6 * 10 4 9  [M6-ngkkel 4

4 |Del2 1 10 ['L' hex-ngkkel 1

5 |[Sikkerhetsskrue M6 * 10 2 11 |Fjernkontroll 2

6 |Del3 1 12 [Kjede 1
Osa |Nimike Maara | Osa |Nimike Maara

1 [Kiinnike 1 1 7 [Pultti M4*8 2

2 | Ankkuripultti M6*50 4 8 |Pultti M6*10 2

3 |Pultti M6*10 4 9 |M6 avain 1

4 [Kiinnike 2 1 10 ['L’ - kuusiokoloavain 1

5 [Varmistuspultti M6*10 1 11 [Kaukosaadin 1

6 |Kiinnike 3 2 12 |Ketju 2




weaddl Montering // Installation // Asennus

NO/FI

Loft / Ceilling / Tak / Tak / Katto Loft / Ceilling / Tak / Tak / Katto
_{ 50cm
[ .JZScmL
1
Veeg Veeg
Wall Wall
Vagg 180cn] Vagg
180cm| Vegg Vegg
Seina Seina
SRERRaRaRs
I‘_L-Jv:r "I X :
S
Gulv / Floor / Vaning / Gulv / Lattia Gulv / Floor / Vaning / Gulv / Lattia

Montering pa vag / Installation to wall / Installation pa vagg / Veggmontering / Asentaminen seinalle

Forberedelse:
Fjern de fire M6 *10 skruer pa varmeren, og brug dem i trin 2.

Preparation stage:
Remove the four M6*10 screws on the heater, and use them for the Step 2.

Forberedelse:
Vanligen ta ur de fyra M6*10-skruvarna fran varmaren, och anvand dem i Steg 2.

Forberedelse:
Fjern de fire M6 * 10 skruene fra varmeren, og bruk dem i trinn 2.

Valmistelu:
Irrota lammittimen takaa nelja M6*10 mutteria (osa 3) ja kayta ne vaiheessa 2.

Monter beslaget. (3,6,7,8)
Stram ikke de fire M6*10 skruer (3), sgrge for, at der er 2-3 mm mellemrum for trin 4.

Assemble the bracket. (3,6,7,8)
Do not tighten the four M6*10 screws (3), reserve 2-3mm of gap for step 4.

Montera beslaget (3, 6, 7, 8)
Spann inte de fyra M6*10-skruvarna (3) for hart, behall 2-3 mm avstand for steg 4.

Monter braketten (3, 6, 7, 8)
Ikke stram de fire M6*10 skruene (3) for hardt, hold 2-3mm mellomrom for trinn 4.

Asenna kiinnike ( osat 3, 6, 7 ja 8)
Al kiristé neljad M6*10 mutteria (osa 3) téysin vaan jata niihin 2-3 mm rako vaihetta 4 varten.

13



wead Montering // Installation // Asennus

Monter beslaget pa bagsiden af varmeren.
Juster de fire bolte, der er placeret i rillerne i midten af varmeren. Monter besalget, du
har samlet i trin 1 med de fire M6 * 10 skruer (3). Stram dem med unbrakongglen (10).

y, 4x Bolte
~44x Bolts
= 4x Reglagen/bolt
Install the bracket on the back of the heater. 4x Ankkuripulttia
Adjust the four sliders which inside the track to the middle of the heater. Fix the bracket F \
which you have assembled in the step 1 with four M6*10 screws (3), tighten them with

‘L ‘hexagonal \

o
!
'l\‘-

5

]
3

Montera beslaget pa baksidan av varmaren.

Justera de fyra reglagen som sitter i sparen i mitten av védrmaren. Montera fast
beslaget, som du har monterat i steg 1, med de fyra M6*10-skruvarna (3). Spann dem
med en insexnyckel (10).

Monter braketten pa baksiden av varmeren.

Juster de fire bolter, som er plassert i sporene i midten av varmeren. Fest

braketten, som du har montert i trinn 1 med de fire M6*10 skruene (3). Trekk dem med
en unbrakongkkel (10).

Asenna kiinnike lammittimen taakse.

Siirra lammittimen takana kiskossa liikkuvat nelja vastakappaletta keskelle lammitinta.
Asenna aikaisemmassa vaiheessa kokoamasi kiinnike vastakappaleisiin neljalla M6*10
pultilla (osa 3) ja kiristd ne kuusiokoloavaimella (osa 10).

Monter beslaget (1) pa veeggen. Stram de fire matrikker (del af ekspansionsboltene M6 I I I 1 1 1 I [ [ I
*50) (2) ved hjeelp af M6 nagle (9). [ 1 l l I I

Fix the part 1 on the wall, tighten the four nuts (a part of explosive bolt M6*50) (2) with [ [ | | |

M6 spanner (9). ] I

Montera fastet (1) pa vaggen. Spann de fyra muttrarna (del av expansionsbultarna ?

M6*50) (2), med M6-skruvnyckel (9). ﬁ -

Monter braketten (1) pa veggen. Trekk de fire mutrene (en del av ekspansjonsboltene

M6 * 50) (2) ved hjelp av M6-skrutrekkeren (9). I ] ]

Asenna kiine 1 (osa 1) seinadan. Kirista nelja ankkuripulttia (M6*50, osa 2) 1 I l l 1 ]

M6 —avaimella (osa 9). I I I I I

Installer varmeren pa vaeggen ved at skubbe den pa beslaget (1).
Put the heater on the wall, slide it into the bracket (1).

Satt upp varmaren pa vaggen, genom att skjuta in den pa fastet (1).
Monter varmeren pa veggen ved a skyve den pa braketten (1).

Ripusta lammitin seinalle liu’'uttamalla sen pultit kiinnikkeen (osa 1) reikiin.

14



weddd Montering // Installation // Asennus

NO/FI

Stram M6 * 10 sikkerhedsskruen (5) for at undga ulykker.
Please tighten the M6*10 security screw (5) to avoid accidents.
Spann M6*10-sakerhetsskruven (5), for att undga olyckor.
Stram sikkerhetsskruen M6 * 10 (5) for a unnga ulykker.

Kiristd M6*10 varmistuspultti (osa 5) paikoilleen estdmaan lammittimen putoaminen
paikoiltaan kiinnikkeesta.

Du kan aendre positionen pa M4 * 8 skruerne (7) og M6 * 10 skruerne (3) til din
foretrukne vinkel for varmeren. Der er seks forskellige stillinger at veelge imellem; Ned:
0°16°32°0gop:0°,16°,32°.

You could change the position of the M4*8 screws(7) and the M6*10 screws (3) for the
best Angle of heating. We have 6 positions for your choice. (near:0°, 16°, 32° and
far: 0°, 16° and 32°)

Du kan byta position pa M4*8-skruvarna (7) och M6*10-skruvarna (3) for din foredragna
vinkel for varmaren. Det finns sex olika positioner att valja mellan; nedat: 0°, 16°, 32°
och uppat: 0°, 16°, 32°.

Du kan endre posisjonen til M4 * 8 skruene (7) og M6 * 10 skruene (3) for gnsket vinkel
for varmeren. Det er seks forskjellige stillinger a velge mellom; Ned: 0 °, 16 °, 32 ° og
oppover: 0°, 16 °, 32 °.

Lammittimen suuntaamiseksi voit vaihdella kiinnikkeessa M4*8 pulttien (osa 7) ja
M6*10 pulttien (osa 3) paikkoja. Valittavissa on kuusi asentoa, (I&hella tai kaukana ja
kummassakin asennossa kulmat 0°, 16°ja 32°).

L ' 'l i L L L L L
Klar til brug!
Complete!
Fardigt!
Ferdig! I I I ]. I ’
Asennus seinalle on valmis! i | |

EEE LT p
&
| | | | | | | | |

15



weaid Montering // Installation // Asennus

NO/FI

Montering pa vaeg / Installation to wall / Installation pa vagg / Veggmontering / Asentaminen seinélle

Forberedelse:
Fjern de fire M6 *10 skruer pa varmeren, og brug dem i trin 2.

Preparation stage:
Remove the four M6*10 screws on the heater, and use them for the Step 2.

Forberedelse:
Vanligen ta ur de fyra M6*10-skruvarna fran varmaren, och anvand dem i Steg 2.

Forberedelse:
Fjern de fire M6 * 10 skruene fra varmeren, og bruk dem i trinn 2.

Valmistelu:
Irrota lammittimen takaa nelja M6*10 mutteria (osa 3) ja kayta ne vaiheessa 2.

Juster de fire skydere, som ligger inde i sporet pa bagsiden af varmeren. Afstanden mellem
skyderne skal vaere mellem 600 mm og 788 mm. Fastger beslagene (6) med fire M6 * 18 ﬁ
h—

skruer, stram dem med ‘L’ sekskantnggle.
600-788 mm

Adjust the four sliders which inside the track.The distance between the sliders should be
between 600 mm to 788 mm. Fix the brackets (6) with four M6*18 screws, tighten them with 2~
‘L ‘hexagonal wrench. .

Justera de fyra reglagen som sitter i sparen. Avstandet mellan reglagen borde vara mellan
380 mm och 788 mm. Montera fast beslaget (6) med fyra M6*18-skruvar. Spann dem med
en insexnyckel (10).

Juster de fire skyvekontrollene som ligger inne i sporet. Avstanden mellom skyvekontrollene
skal vaere mellom 600 mm og 788 mm. Fest brakettene (6) med fire M6 * 18 skruer, stram
dem med ‘L’ sekskantsngkler.

Siirra lammittimen takana kiskossa liikkuvat nelja vastakappaletta keskelle lammitinta niin,
etta niiden valinen etaisyys on vahintaan 600 mm ja enintddn 788 mm. Kiinnita kiinnikkeet
3 (osa 6) lammittimen vastakappaleisiin neljalla M6*10 mutterilla (osa 3) ja kirista mutterit
kuusiokoloavaimella (osa 10).

For karabinen i kaedenes ende (12) gennem hullerne i beslagene. Justeringsomradet for de
to kaeder (12) er mellem 500mm - 750mm.

Let the carabineer at the end of the chains (12) through the holes of the brackets .The length
adjustment range of two chains (12) are between 500mm-750mm.

Tra karbinhaken i anden av kedjan (12) genom halen i beslaget. Langden pa de tva kedjorna
kan justeras mellan 500 mm och 750 mm.

Legg karabinen i enden av kjedene (12) gjennom hullene i armaturene. Justeringsomradet
for de to kjedene (12) er mellom 500mm - 750mm.

Pujota ketjujen (osa 12) lukot kiinnikkeiden (osa 3) reikien lapi ja sdada sopiva
ripustuskorkeus kiinnittdmalla lukko ketjuun. Saada ketjun pituus valille 500 — 750 mm.

16



